
 

 

Common Mistakes at IELTS 
 

 

1. U
sing the 

     a. In the USA this situation is totally different.  √ 
b. In USA this situation is totally different. x 

  

   a. The table shows number of people working in Britain in 1976. x
    b. The table shows the number of people working in Britain in 1976. √ 

   

2. Singular or Plural 

     a. There are several problem with this idea. x   
b. There are several problems with this idea. √ 

  

   a. Many charity organisations provide a great deal of help. √
    b. Many charity organisation provide a great deal of help. x 

  

3. N
ouns w

ithout plural 

     a. I don't have many time to complete my assignment. x   
b. I don't have much time to complete my assignment. √ 

  

   a. When I did a search on my computer, I could only find a few information. x
    b. When I did a search on my computer, I could only find a little information. √ 

 
 
 

  

4. Present Sim
ple  

     a. Nowadays, our bodies becoming 'old' much later than 100 years ago. x  
b. Nowadays, our bodies become 'old' much later than 100 years ago. √ 

  

   a. Children lost their freedom if they have too many responsibilities. x
    b. When I did a search on my computer, I could only find a little information. √ 

 
 

5. Large N
um

bers 

     a. The government spent ten millions dollars on education last year. x  
b. The government spent ten million dollars on education last year. √ 

  

   a. There were thousands of people at the football match. √
    b. There were thousand of people at the football match. x 
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6. There is/are 

     a. It is a lovely park near my house.  x
b. There is a lovely park near my house. √ 

  

   a. There have very good restaurants and shops on board this ship. x
    b. There are very good restaurants and shops on board this ship. √ 

 
   

7. Relative Pronoun 

     a. You should do that what you think is right. x   
b. You should do what you think is right. √ 

  

   a. There are several factors that are important in achieving happiness. √
    b. There are several factors are important in achieving happiness. x 

 
 

  

8. And, But, O
r 

     a. It is important to change the way we think or behave. x  
b. It is important to change the way we think and behave. √ 

  

   a. Vegetarians don't eat meat and they get their protein from other foods. x
    b. Vegetarians don't eat meat but they get their protein from other foods. √ 

 
  

9. Auxiliary verbs 
     a. Why they think this? x   

b. Why do you think this? √ 
  

   a. I am not agree with this idea. x 
    b. I don't agree with this idea. √ 

 
 

 

10. M
odal Verbs 

     a. If workers are sick, they must to stay home and rest. x   
b. If workers are sick, they must stay home and rest. √ 

  

   a. In this way, children can learn from what they have done. √
    b. In this way, children can learning from what they have done. x 

 
 

 



 

 

Common Mistakes at IELTS 
 

 

11. –ing or to 

     a. I just managed to avoid hitting the car in front of me.  √ 
b. I just managed to avoid to hit the car in front of me. x 

  

   a. I want telling you a little about myself. x  
    b. I want to tell you a little about myself. √ 

 
   

12. Verbs after adj. &
 prep. 

     a. Young children often feel shy to talk to adults. x   
b. Young children often feel shy talking to adults. √ 

  

   a. It's easy to understand why. √
    b. It's easy understanding why. x 

 
 

  

13. allow
, advise, m

ake, suggest 

     a. My school does not allow us taking holidays during term. x  
b. My school does not allow us to take holidays during term. √ 

  

   a. Our teacher suggested me to buy a good dictionary. x
    b. Our teacher suggested I buy a good dictionary. √ 

 
 
 
 

  

14. Stop, Try, Forget &
 Rem

em
ber  

     a. People should stop spending their money on the latest fashions. √  
b. People should stop to spend their money on the latest fashions x 

  

   a. The government tried stopping this plan but was not successful. x
    b. The government tried to stop this plan but was not successful. √ 
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15. Prepositions 

     a. My brother is good at sport but he is very bad at English.  √
b. My brother is good in sport but he is very bad in English. x 

  

   a. The percentage in women attending university is increasing. x
    b. The percentage of women attending university is increasing. √ 

   

16. Prep. after verbs 

     a. The company agreed for the pay rise. x   
b. The company agreed to the pay rise. √ 

  

   a. The man apologized for starting on my foot. √  
    b. The man apologized to stand on my food. x 

 
  

17. Prep. of tim
e and place 

     a. I will start my course on June. x   
b. I will start my course in June. √ 

  

   a. I am going in London next year. x 
    b. I am going to London next year. √ 

 
 
 

 

  

18. The Prep. of 

     a. Our standard of living is much better than in the past. √  
b. Our standard for living is much better than in the past.  x 

  

   a. Write a letter complaint to the manager. x 
    b. Write a letter of complaint to the manager. √ 

 
 

 

19. passive 

     a. My home is located in the western part of the city. √   
b. My home locates in the western part of the city. x 

  

   a. These funds can be give to the poorer people to help them. x
    b. These funds can be given to the poorer people to help them. √ 
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20. passive 

     a. Many people have been died because of this disease. x 
b. Many people have died because of this disease. √ 

  

   a. This data took from 1982 and 1992. x  
    b. This data was taken from 1982 and 1992. √ 

   

21. Register 

     a. This type of work attracts a greater % of men than women. x  
b. This type of work attracts a greater percentage of men than women. √ 

  

   a. Many old people believe that kids have too much freedom nowadays. √
    b. Many old people believe that kids have too much freedom nowadays. x 

 
  

22. Adj. &
 Adv. 

     a. The difference can be explained quite easy. x   
b. The difference can be explained quite easily. √ 

  

   a. It is clearly that people without money do not have as much freedom. x
    b. It is clear that people without money do not have as much freedom. √ 

  
  

23. N
oun or Adjective 

     a. Tourism can be very benefit to poorer areas. x 
     b. Tourism can be very beneficial to poorer areas. √ 

  

   a. In my job, you need the confidence to address large groups of people. √
    b. In my job, you need the confident to address large groups of people. x 

 
 

24. Verb confusion 1 

     a. I don’t know where the library is. √ 
     b. I don’t understand where the library is. x 

  

   a. Last number I studied with you on you’re the course. √
    b. Last number I learned with you on you’re the course. x 
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25.Verb. Confusion 2  

     a. In 2002, the figure increased from 30% to 25%. x 
b. In 2002, the figure decrease from 30% to 25%. √ 

  

   a. The flow chart displays the quantity of electricity consumed each year. x
    b. The flow chart shows the quantity of electricity consumed each year. √ 

 
   

26. Verb confusion 3 

     a. We are buying more and more money on cars each year. x  
b. We are spending more and more money on cars each year. √ 

  

   a. We need to stop this problem as soon as possible. x 
    b. We need to solve this problem as soon as possible. √ 

 
  

27. N
oun Confusion 1

     a. Those who do manual work often earn less money. √   
b. Those who do manual work often earn less wages. x 

  

   a. People without computer skills find it difficult to get a job nowadays. √
    b. People without computer knowledge find it difficult to get a job nowadays. x 

 
  

28. N
oun Confusion 2 

     a. Advertising on TV is the best way of increasing your business. √
     b. Advertisement on TV is the best way of increasing your business. x 

  

   a. How was your travel to Canada? x 
    b. How was your trip to Canada? √ 

 
 
 

 

 

29. Apostrophe 

     a. I am sorry but I wont be able to come to your party on Saturday. x
     b. I am sorry but I won't be able to come to your party on Saturday. √ 

  

   a. Children's toys are much more sophisticated now than in the past. √
    b. Childrens toys are much more sophisticated now than in the past. x 
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31. the - General 

     a. People are worried about the bad effects of mobiles on brain. x  
b. People are worried about the bad effects of mobiles on the  brain. √ 

  

   a. We need to look at factors such as the availability of health care. √
    b. We need to look at factors such as availability of health care. x 

  

32. a/an 

     a. The company has captured a significant share of the market. √
b. The company has captured significant share of the market. x 

  

   a. I think they are also right to certain extent. x 
    b. I think they are also right to a certain extent. √ 

  

33. Capital letters 

     a. She explained that Thai food often requires a lot of ingredients. √
     b. She explained that thai food often requires a lot of ingredients. x 

  

   a. Sixty percent of students enrolled at the university are male. √
    b. Sixty percent of students enrolled at the University are male. x 

 
 

34. w
hen/ if/ w

hether 

     a. People would stop using their cars when public transport was better. x
     b. People would stop using their cars if public transport was better. √ 

  

   a. We discussed if universities should charge tuition fees. x
    b. We discussed whether universities should charge tuition fees. √ 

 

 

 

30. Spelling Errors 

     a. It is believed that there should be more women in government. √
     b. It is believed that there should be more women in goverment. x 

  

   a. It is the responsibility of every country to protect the environment. √
    b. It is the responsibility of every contry to protect the environment. x 
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36. U
sing Apostrophes 

     a. I like junk food because its easier than preparing fresh dishes. x  
     b. I like junk food because it's easier than preparing fresh dishes. √ 

  

   a. Please don't take a taxi – I'll come and pick you up. √
    b. Please dont take a taxi – I'll come and pick you up. x 

  

37. Spelling m
istakes 

     a. We have become very dependant on computers. x 
     b. We have become very dependent on computers. √ 

  

   a. You need to have a clear idea of what you want to achieve. √
    b. You need to have a clear idea of what you want to acheive. x 

  

38. Spelling 
     a. More than 20% of the work  force is unemployed. x 
     b. More than 20% of the workforce is unemployed. √ 

  

   a. There are alot of artists living in this district. x 
    b. There are a lot of artists living in this district. √ 

 

39. Adjective Form
s 

     a. Many university students have a part-time job. √ 
     b. Many university students have a part time job. x 

  

   a. These jobs cannot be done by unexperienced young people. x
    b. These jobs cannot be done by inexperienced young people. √ 

 

35. D
iscourse m

arkers 

     a. In conclusion, the population is expanding at an understanding rate. √
     b. In conclusion the population is expanding at an understanding rate . x 

  

   a. If we look for example, at sport in schools.  x 
    b. If we look, for example, at sport in schools. √ 
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41. Prep. After verbs 

     a. Companies in the US spend more money on research. √   
     b. Companies in the US spend more money for research. x 

  

   a. We have to provide doctors with the resources they need to do their job. √
    b. We have to provide doctors the resources they need to do their job. x 

 
  

42. Prep. for trends 

     a. There has been an increase in the number of people aged over eighty. √
     b. There has been an increase of the number of people aged over eighty. x 

  

   a. Between 1990 and 2000, there was a drop 15%. x 
    b. Between 1990 and 2000, there was a drop of 15%. √ 

 
  

43. Prep. for statistics 

     a. The chart shows than only 18% men work less than 15 hours a week. x
     b. The chart shows than only 18% of men work less than 15 hours a week. √

  

   a. If we look at the figures for people between 20 and 30 years old,…. √
    b. If we look at the figures for people between 20 to 30 years old,…. x 

 
 

44. N
ouns for statistics 

     a. Only four percentages of prisoners are women. x 
     b. Only four percent of prisoners are women. √ 

  

   a. The pie chart illustrates how electricity is used. √ 
    b. The pie graph illustrates how electricity is used. x 

 
 

40. Prep. W
ith nouns 

     a. Many newspaper articles are also available on the internet now. √
     b. Many newspaper articles are also available through the internet now. x 

  

   a. There are three main reasons of this change.  x 
    b. There are three main reasons for this change. √ 
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46. N
um

ber &
 Am

ount 

     a. The internet is becoming accessible to a growing amount of people. x
     b. The internet is becoming accessible to a growing number of people. √ 

  

   a. The table shows the number of people who visited the gallery each day. √
    b. The table shows the amount of people who visited the gallery each day. x 

 
  

47. Com
parisons 

     a. The rate of union membership rose to 26% comparing to 25% last year. x
     b. The rate of union membership rose to 26% compared to 25% last year. √

  

   a. The figure is now three times higher as compare to 1965. x
    b. The figure is now three times higher than in 1965. √ 

 

  

48. Contrast 
     a. Iran spent 1% of GDP on defense. The US. in contrast, spent 3%. √
     b. Iran spent 1% of GDP on defense. On the contrary, the US. spent 3%. x 

  

   a. Japan, on the other hand, experienced a slight drop over the same period. √
    b. Japan, on the other side, experienced a slight drop over the same period. x 

 

49. (U
n)Countable 

     a. International aid is very important after natural disasters. √
     b. International aids are very important after natural disasters. x 

  

   a. Every country has its own customs and behaviors. x 
    b. Every country has its own customs and behavior. √ 

 
 

 

45. Verbs for statistics 

     a. The birth rate has reduced over the past ten years.  x 
     b. The birth rate has dropped over the past ten years. √ 

  

   a. The graph shows a rise in the number of accidents involving cyclists. √
    b. The graph shows a rise in the number of accidents involving cyclists.  x 
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51. it, they, them
 

     a. There have been changes in the food we eat & the way we cook them. x
     b. There have been changes in the food we eat & the way we cook it. √ 

  

   a. Such films are not suitable for children because they contain violence. √
    b. Such films are not suitable for children because it contains violence. x 

 
 
 

 

  

52. being and having 

     a. There are some students being more willing to study than others. x
     b. There are some students who are more willing to study than others. √ 

  

   a. In the West we are used to having clean water which comes out of the top. √
    b. In the West we are used to have clean water which comes out of the top. x 

 
 

  

53. join/attend, give/provide 

     a. Some people can't afford to join private language courses. x
     b. Some people can't afford to attend private language courses. √ 

  

   a. The university library provides free internet access for students. √
    b. The university library gives free internet access for students. x 

 
 
 
 
 

 

 

50. Singular &
 Plural 

     a. Health and education are top priorities for the new government. √
     b. Health and education is top priority for the new government. x 

  

   a. The number of students going on to higher education has increased. √
    b. The number of students going on to higher education have increased.  x 
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55. habits, custom
s &

 practices 

     a. As a tourist you should show respect for local behaviour. x
     b. As a tourist you should show respect for local customs. √ 

  

   a. They encourage the practice of teachers reading aloud to young children. √
    b. They encourage the habit of teachers reading about to young children. x 

 
 
 
 
 

  

56. effect, influence &
 im

pact 

     a. Changes to the exam format could have a serious influence on them. x
     b. Changes to the exam format could have a serious effect on them. √ 

  

   a. It is difficult to assess the impact of the disaster on tourism. √
    b. It is difficult to assess the extent of the disaster on tourism. x 

 
 
 
 
 

 

  

57. tim
e w

ords 

     a. The effects will only be seen over a long duration x 
     b. The effects will only be seen over period of time √ 

  

   a. Managers are expected to work for long time. x 
    b. Managers are expected to work long hours. √ 

 
 

 

 

54. Verb collocations 

     a. They have made a lot of progress in improving working conditions. √
     b. They have achieved a lot of progress in improving working conditions. x 

  

   a. Poor diet in childhood can have a long-term effect on health. √
    b. Poor diet in childhood can leave a long-term effect on health.  x 
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59. noun &
 adj. : m

ale or m
en 

     a. There are more opportunities for females within the police service. x
     b. There are more opportunities for women within the police service. √ 

  

   a. The chart below shows the number of hours worked by men and women 
employees. x 

    b. The chart below shows the number of hours worked by male and female 
employees. √ 

  

 
 
 

  

60. noun and aj.: Britain, British or Briton 

     a. The most popular country for Britons to visit in 1999 was France. √
     b. The most popular country for British to visit in 1999 was France. x 

  

   a. The company is based in the Thai capital Bangkok. √ 
    b. The company is based in the Thailand capital Bangkok. x 

 
 
 
 
 
 
 
 
 

  

 

 

58. appearance &
 com

m
unication 

     a. Public art can have a considerable effect on the outlook of the public 
spaces.  x 

     b. Public art can have a considerable effect on the appearance of public 
spaces. √ 

  

   a. We need better communications between parents and teachers. x
    b. We need better communication between parents and teachers.  √ 

 
 
 


